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Who is he?
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1. She is Rikako Ikee. She is a woman ( ) is a famous swimmer.

2. He is Hedetoshi Nishijima. He is a man ( ) ( ) an actor.

3. They are Miki. They are comedians ( ) ( ) glasses.
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Step 3 Grammar point

She is a woman. She is a famous swimmer.

She is a woman who is a famous swimmer.
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Step 4 Matching Game
Model Dialog

(DA: Who is he?
(H—=FEDL 2T D)
B: He is Hidetoshi Nishijima.
He is a man who is an actor. (W —F%Z® < >T&EZ5)
C: Right!

(2A: Who is he?
(H=F%DL3)
B: He is Hidetoshi Nishijima.
He is a man who is a basketball player. (h7—F%Z® < >T&EZ %)

C: That’s not true.
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51l This is Kei Tanaka. He is an actor who has 2 children.




